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MAC 1140 Quiz 22
You are not permitted to use a calculator on this quiz.  You must provide complete answers to the following questions.  Correct answers without supporting work will receive minimal credit.  You must box or circle your final answer.  Good luck.
1.  Add 
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2.  Simplify 
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3.  Find the domain of 
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4.  Find the domain of 
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5.  Write 
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 in the form 
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6.  Factor 
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.  Simplify completely.
7.  Rewrite 
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 in a form with no logarithm of a product, quotient, or power.
8.  Multiply:  
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9.  If 
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10.  Draw the graph of 
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.  Be sure your graph passes through the correct points.
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